Math 152, Fall 2022
Jo Hardin

WU # 11
Thursday 10/6/22

Your name:

Names of people you worked with:

Task:

Consider the result derived in class:
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where p1; = o;;orl , AM=X+n, a=ap+F, Br=PB0+ 352 iq1(xi —T)* + %

Provide the formula for a 98% posterior interval for u, in terms of u1, A1, ag, 51.

Solution:

Let the confidence level be 1 — a. As with frequentist CI, the interval can be built by pivoting around
the value of interest, p.
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= pmxec )\16;1 is a (1 — @)100% posterior interval for p.

And ¢ =qt(1 - a/2, 2a3), here ¢ = qt(0.99,a1) .



